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a
log, m? = p log, m log, = log,a—log,b | log,ab = log,a+ log,b

il dry e et JS ded 330 log, 5 ~ 1.1610)s llog, 2 = 0.5]log, 3 ~ 0.7925) pusuiu
Use log 12 =0.5,1log 43~ 0.7925, and log 1 5= 1.1610 to approximate the value of each expression.
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log, 30 log, 20 log, 3
;Iuﬁq(zxij) - I@j{f (4 x 3) = fo(ﬂqz - lquS
=ley, 2 +/<33‘r-3 + /°j+> = \w:)HH 4 (ans - 0.5 _ ©.31925
= 6.5 4 .7925 4 [-16l6 - { + 1.16lo = - ©-2925
= 2.43%35%5 = 2.])blo
4
log, 3 log, 9 log, 8
[ 2 / 3
- lo ¥ _ Jog 3 — (o 2 - lo 2
éL,' 34 E)L,‘ Sq
= 1 - ©.31925 =2 log 3 = log =
25“ (jq
= 0.20%735 = 2 (0.3925) = 3 (0-5)
- 1,585 = J)-5

(AU axg le i JS Zed 30 og; 9 = 11292 ¢ log, 8 = 111606 <bud S 13)
Given log s 8 = 1.1606 and log 7 9 =~ 1.1292, approximate the value of each expression.
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MOUNTAIN CLIMBING As elevation
increases, the atmospheric air pressure
decreases. The formula for pressure based

elevation is a = 15,500 (5 - log 10 P), where a is the

altitude in meters and P is the pressure in

pascals (1 psi = 6900 pascals). What is the air

pressure at the summit in pascals for each
mountain listed in the table at the right?
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PERSEVERANCE Solve each equation. Check your solutions.

log; 56 —log; n = log; 7 5log, x = log, 32 logpa +logp(a+21) =2
lo 26 4 1// 3 le > = lef 22 le [a(a +2()] =2
%( " 33 ﬂ:ZS 0/2 glo -
56 - 2 L™ = 32 o [aa<«2(3 - I
n
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= 56 = 7n x =3z a2 Lt 2ta = (00
n- 58 =2 2" +2(la ~too =o
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